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QUESTION 1
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1.2 Force in backstay = 11,3758 5
Force in legs = 20,48 kN eack Vo (2)
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QUESTION 2
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QUESTION 3
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14,74 x 1075 = 3,276 x 1077F = + 9,708 x 10~° Fy5 + 7,281 x 10-F v

F = 29,629kN 5
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QUESTION 4
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Fe¥. 50 x10° x 0,37 x 0,07

o = 22,251 Mpa{tensile YT
Tae 7 533 x 10 22,251 Mpaensiley Vs
Fe¥, S0x108 = 0,37%0,13 .
Tpe = —— = - = 41,323Mpa(compressive)y Vi
be =7 562x 10-% 323Mpalcompressive)

Gre = Op + 0, = 3,125 + 22,251 = 25376 Paltensile) Vo

Tre = Op — Oy, = 3,125 — 41,323 = 38,198MPafcompressive) ¥o

QUESTION 5
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QUESTION 6

6.1

Fo =04 =500 10% x 0,6% = 180N 55
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QUESTION 7
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8.1 - Px112  150x10% x 1,12
T e 2 x 10

= 2673,803Nm W=
(1)
8.2

Fab 7800 x 04 0.6 ‘ =
M= = = 1872Nm ¥4

L 1
(1)
8.3 [ , o [ -
Ts =T34+ M7 = (26738037 +18727)y = 3263,986)m y=

(2)
8.4 M,=05(M+JT7 ¥ M?) = 0,5(1872 + 3263,986)vT = 2567093 'm VE (2)

8.5 md ¥

o

consider shear stress: - =1,
16
TXxd®x45x10%5 o
=3263,986 W

16
d=71752 x 10~ %m =

s
TR
-

consider bending stress: = &,
T xd¥% 60 x 108 ; o

e = 2567,993 W

d =75825x 107%m R

s T 5
minimum diameter: o = 75,825 x 106~ %m A ( )

8.6 16T, 16x 3263,986 4

e
{

i T TS aas L 1oy = 38131MPa T

(2)
[13]

TOTAL: 100




